11.4) Reverse chain rule



Worked example Your turn

Find: Find:
Jx3(x4 — 2)° dx fx(x2 + 5)3 dx

1
§(9c2 +5)*+c

fxz(x3 — 5)* dx




Worked example Your turn

Find: Find:
jsin x cost x dx fcos x sin? x dx

1
3 Sin

3x+c

fsin3 X COS x dx




Worked example

Your turn

Find:

52
j4x3 -5 dx

Find:

Bt
3x2 + 2 X

1
gln|3x2 + 2| +c



Worked example

Your turn

Find:

f4x3 .
x*+1 x

j 122 p
4x3 — 5 *

Find:

f b6Xx p
3x2 + 2 X

In|3x% + 2| + ¢



Worked example Your turn

Find: Find:
[ [t
(x2 —3)5 (x2 +5)3

1
—Z(x2 +5)“+c

x2
f (x3 —2)* dx




Worked example Your turn

Find: Find:
jx3 eX"+5 dy fx eX’+1 gy

L
+1

e T C

2

3_
fxz eX % dx




Worked example Your turn
Find: Find:
3x2+5 2x + 1
dx dx
Va3 £ 5x — 2 VxZ +x -3
2Jx2+x—3+c
12x3 — 45x?
dx

Vx4 —5x3 + 1




Worked example

Your turn

Find:

Sin X
j dx
cosx+5

sec? x
dx
tanx — 3

Find:

COS X
j - dx
sinx + 2

In|sinx + 2| + ¢



Worked example Your turn

Find: Find:
jsinx eCoS X dx jcosx eSInX

esmx _I_ C

jsec2 x etdnX dgy




Worked example Your turn

Find: Find:
Jsinx (cosx — 1)° dx jcosx (sinx — 5)7 dx

1
g(sinx - 58 +¢

fsec2 x (tanx + 3)° dx




Worked example Your turn

Find: Find:
jsec2 xtanx dx f3 sec* x tanx dx

3

4
—sec*x +c
4

jZ sec3 xtan x dx




Worked example Your turn

Find: Find:
cosec?x cosec’x
(3 — cotx)*? dx (2 + cotx)3 ax
1
5(2 + cotx)™? +c
sec’x

d
(3 + tan x)? *




Worked example Your turn

Find: Find:
f sin 4x p f COS 2X p
cos4dx + 2 X sin2x + 3 X

1
Elnlsin 2x + 3|+ ¢

j sec? 3x p
tan3x — 5 x




Worked example Your turn

Find: Find:

.
f tan x dx cotx dx

In|sinx | +c




